
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin Maxxyz Compact 

 

11501012 1.5 m power cable, 3-pin IEC 

08240114 1/4 turn fastener, retainer 

08240113 1/4 turn fastener, wingbolt 

08240115 1/4-turn pedestal 

08190101 2.9x4.5 C. rec. Ph. Selftap bl 

08220102 3.2x7.5 Pop Rivet Alu/steel cl 

91613024 3P fem.XLR - 5P maleXLR adaptr NA3F5M 

08190404 4.2x13 Torx20 FH Selftap black 

08220602 5.0x10 Pop Rivet grooved alu 

08220604 5.0x18 Pop Rivet grooved alu 

02204724 Accutouch 2216 controller 

26820270 Aluplate Maxxyz wheelplate 

55732060 Bluelight unit, MAXxyz 

05550021 Button for digiswitch , 1 hole 

11860274 Cable ButtonTFTCereb MaxxyzC 

11860279 Cable ButtonUBut Prog MaxxyzC 

11840127 Cable Cereb-Centronics MaxxyzC 

11840122 Cable eUSBMod3 MaxxyzC 

11840120 Cable Frame-Centronics MaxxyzC 

11860270 Cable IICMasterFader MaxxyzC 

11860322 Cable LVDS AUO G121SN01 V3 

11860271 Cable PowerCerebIntern MaxxyzC 

11860262 Cable PowerDMX MaxxyzC 

11860263 Cable PowerMod2 MaxxyzC 

11860278 Cable TBallCtrl Prog MaxxyzC 

11840129 Cable USBFrontCereb MaxxyzC 

34000000 Cardboard box, 504x254x104 

32023001 Closed cell expanded rubber 3. 

05324102 Crimp Terminal small , 2.54m 

05501001 Digiswitch 

02205502 Digital encoder belt Blue LED 

39042504 DVD RW Slimline drive,MaxxyzC 

05741613 Fan 12VDC 60x60x15 Low Noice 

05741416 Fan 12VDC w Feedb 40x40x10 

33001018 Flightcase writing pad 

62406415 FR Keyboard drawer W handrest 

26621220 Fr. DVD Brack Left MaxxC 

26621230 Fr. DVD Brack Right MaxxC 

26600070 Fr. Handrest MaxxC 

23402260 Fr. Storage Compart MaxxC 



62406450 Fr. TopLight Assembly MaxxC 

62406490 Fr. USBDMX MountPlate MaxxC 

32023503 Handrest bottom foam 

19040110 Hinge part, MAXxyz 

26620630 Holder for monitor, MAXxyz 

11840126 IDECable DVDIDE 320mm MaxxyzC 

02000210 Intel Pentium-M Dothan 1,8GHz 

05555217 Keycap Cherry - 

05555210 Keycap Cherry . 

05555218 Keycap Cherry / 

05555212 Keycap Cherry @ 

05555216 Keycap Cherry + 

05555028 Keycap Cherry < 

05555027 Keycap Cherry > 

05555200 Keycap Cherry 0 

05555201 Keycap Cherry 1 

05555301 Keycap Cherry 1 for LED 

05555310 Keycap Cherry 10 for LED 

05555202 Keycap Cherry 2 

05555302 Keycap Cherry 2 for LED 

05555303 Keycap Cherry 3 for LED 

05555304 Keycap Cherry 4 for LED 

05555305 Keycap Cherry 5 for LED 

05555306 Keycap Cherry 6 for LED 

05555207 Keycap Cherry 7 

05555208 Keycap Cherry 8 

05555308 Keycap Cherry 8 for LED 

05555209 Keycap Cherry 9 

05555309 Keycap Cherry 9 for LED 

05555221 Keycap Cherry Clear (Large) 

05555222 Keycap Cherry Copy (Large) 

05555229 Keycap Cherry Cue (Large) 

05555224 Keycap Cherry Delete (Large) 

05555219 Keycap Cherry Edit (Large) 

05555211 Keycap Cherry Enter (Large) 

05555213 Keycap Cherry Full 

05555228 Keycap Cherry Group (Large) 

05555227 Keycap Cherry Load (Large) 

05555223 Keycap Cherry Move (Large) 

05555000 Keycap Cherry No text 

05555036 Keycap Cherry No text (Large) 

05555225 Keycap Cherry Record (Large) 

05555214 Keycap Cherry Thru 

05555220 Keycap Cherry Undo (Large) 

05555226 Keycap Cherry Update (Large) 

05555026 Keycap Cherry v 

05555025 Keycap Cherry ^ 



05555203 Keycap Cherry 3 

05555204 Keycap Cherry 4 

05555205 Keycap Cherry 5 

05555206 Keycap Cherry 6 

05555307 Keycap Cherry 7 for LED 

05555215 Keycap Cherry Arrow 

05555018 Keycap Cherry Bank 

05555030 Keycap Cherry CV 

05555016 Keycap Cherry Delay 

05555013 Keycap Cherry Fade 

05555035 Keycap Cherry Go (Large) 

05555023 Keycap Cherry High Light 

05555019 Keycap Cherry Last 

05555034 Keycap Cherry ll/Back (Large) 

05555017 Keycap Cherry Macro 

05555014 Keycap Cherry Menu 

05555029 Keycap Cherry Mode 

05555020 Keycap Cherry Next 

05555024 Keycap Cherry P/T 

05555021 Keycap Cherry Preview 

05555033 Keycap Cherry Rel 

05555032 Keycap Cherry Snap 

05555015 Keycap Cherry Snap Shot 

05555022 Keycap Cherry Swap Prog 

05555230 Keycap Cherry View 

05552008 Knop fader f. MAXxyz 

08240609 Large Butterfly, Cranked kick 

39041009 LV-673ENS PentM Commel Mainb Maxxc 

26621080 M. TballBut Left MaxxC 

26621090 M. TballBut Right MaxxC 

08030502 M2,5x5 cs pz tapt shiny 

08052701 M3 nut lock PA shiny 

08054303 M3 washer 3,2/7x0,5 PA 

08054401 M3 washer lock 3,2/6 black 

08050810 M3x10 cs torx black 

08050709 M3x10 ph torx black 

08053807 M3x10 stand off m6/f7 black 

08050706 M3x12 ph torx black 

08050812 M3x16 cs torx black 

08050714 M3x16 ph torx black 

08053814 M3x20 stand off m6/f7 black 

08050802 M3x6 cs torx black 

08050702 M3x6 ph torx black 

08050700 M3x6 ph torx tapt spike black 

08053805 M3x6 stand off f/f PA 

08053799 M3x6 stand off m3,7/f3,5 shiny 

08050804 M3x8 cs torx tapt black 



08050703 M3x8 ph torx black 

08073001 M4 nut square 8x8x2,7 shiny 

08073601 M4 riv nut cs spline 1-3 shiny 

08071208 M4x10 ch low allen A4 ds silver 

08070804 M4x10 cs torx tapt black 

08070701 M4x10 ph torx tapt spike black 

08071223 M4x12 ch low allen A2 DIN7964 

08070801 M4x8 cs torx black 

08091302 M5x16 cs allen shiny 

08112701 M6 nut lock PA shiny 

08113605 M6 Nutrivet Quicksert, Steel 

08111201 M6x10 ch low allen black 

08111215 M6x16 Allen Flange Socket 

08111204 M6x16 ch allen A2 

08111303 M6x16 cs allen A2 ds silver 

08112304 M6x20/15 Handwheel Black D40 

08111005 M6x30 Hex cap screw black 

62010534 PCBA 32Key Programmer TEST 

62010535 PCBA 5Digitast TEST 

62010547 PCBA 5Digitast WO Cherry TEST 

62010536 PCBA 5LCDkey TEST 

62010548 PCBA 5LCDkey WO Scrollwh TEST 

62010537 PCBA 5Playb Buttons TEST 

62010023 PCBA Analog Fader M Slave 

62010024 PCBA Analog Fader no Motor 

62011020 PCBA AUDIO/Power TEST 

62010538 PCBA ChannelSelect TEST 

62013002 PCBA dc filter (Case lamp) 

62011024 PCBA Digital FaderDriv. TEST 

62010539 PCBA Fade-Bank Keys TEST 

62010540 PCBA Go Buttons TEST 

62010053 PCBA Logo SideLeds TEST 

62010052 PCBA Master MotFader TEST 

62010541 PCBA MasterFader Ctrl TEST 

62011030 PCBA Mini USB/I2C 5FadBot TEST 

62011029 PCBA Mini USB/I2C 5FadTop TEST 

62010546 PCBA Tball Controller TEST 

62010542 PCBA Tball UpperButt. TEST 

62011023 PCBA TFT Button CTRL TEST 

62010543 PCBA TFT Buttons TEST 

62011019 PCBA USB/DMX 2048 TEST 

62011021 PCBA USB/HUB 7Port TEST 

62011022 PCBA USB/IDE TEST 

62010545 PCBA USB/Programmer TEST 

62014504 PCBA USBFront Cerebrum TEST 

62011025 PCBA VGA/USB Cerebrum TEST 

05323522 Plug female angle, wire, 2 pol 



39047004 PSU Seasonic V8 300W Maxxc 

08200102 PT 2,9x6,5 ph torx black 

08200107 PT 5x12 ph pz black 

05501016 Push Switch w LCD 3Col 64x32Pi (type: SB6432) 

32020501 Rubber foot 38x10mm, Black 

15800000 Sleeve flexible ,hose 5mm, bl 

39041507 SSD Drive 2.5 SATA 

26620650 Stabilizer for monitor holder 

13104003 Strap, black, 3.6x140mm 

13104000 Strap,black,high temp,2.5x98 

16840060 Teleskope med nitte, MAXxyz 

02204504 TFT 12.1 AUO G0121SN01 MaxxC 

02204703 TFT Invertor f. 12.1 MaxxC 

02204721 Touchpannel ELO 12.1 MaxxC 

39100508 TrackBal 38mm blue backl MaxxC 

08073801 UNC 4-40 stand off m7/f3 shiny 

19400060 Wheel, 100 mm, Blue 

26860710 Wheelplate MAXxyz Flc. 

13101008 Wire Retainer Flexible 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


